Efficiency vs P,

+0.05
o
9.045
>
20.04
o
.035
0]
0.03
0.025
0.02
0.015
0.01
0.005

o [o| SIS 2 .! ........! ........! L
I e
o

0.9 TR

107 1 10 prT (Ge\})o3

—=— DQM_V0001_R000000001__Global_CMSSW_1004
—— DQM_V0001_R000000001__Global__CMSSW._100timeHPTT
—— DQM_V0001_R000000001__Global__CMSSW_100timePLa

c 0.1
2
20.09
2
£0.08
o
£0.07
(]
0.06
0.05
0.04
0.03
0.02
0.01

...........................................

L O

Ratio

0.9
0.8

TP N

Efficiency vs ¢

£0.05
0
2.045
2
$0.04
(5]
$.035
(9]
0.03

&

N
o

..1JJJJ!JJJJ{!J!J{J!J!{!!!J{!!!!

0.025Ff {4t
0.02F} Ll
0.015[:} IMhse
0.0 (HH:
0.005: H d A |

TP @



	Contents
	Page 1


